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%DWX� EDWD� ULQJDQ�&HOOXODU� /LJKWZHLJKW� &RQFUHWH �&/&�� DGDODK� EDWX� EDWD�

\DQJ� PHPLOLNL VLIDW� GDSDW� PHQJHULQJ� GL� GDODP� VXKX� NDPDU WDQSD� DGDQ\D�

SHPEDNDUDQ�� 'DODP� SHQHOLWLDQ� LQL� GLEXDW EDWX� EDWD� ULQJDQ� &/& GHQJDQ�

PHQFDPSXUNDQ DEX�VHNDP�SDGL GHQJDQ�DJUHJDW�SDVLU GDQ�GLODNXNDQ�NDUDNWHULVDVL�

NXDW�WHNDQ�VHUWD�GD\D�VHUDS�VHVXDL�GHQJDQ�61,���������������6DPSHO�\DQJ�GLXML�

EHUEHQWXN�EDORN�EHUXNXUDQ�SDQMDQJ�����PP��OHEDU��� PP��VHUWD WHEDO����PP GDQ�

NXEXV�EHUXNXUDQ�SDQMDQJ�� OHEDU�� WHEDO�����PP��6DPSHO�GLEXDW�GHQJDQ�FDPSXUDQ�

SDVLU�GDQ DEX VHNDP�SDGL \DQJ�GLWDPEDKNDQ�VHEDQ\DN ��J������J������J������J��

��� J GDQ NDUDNWHULVDVL� GLODNXNDQ�SDGD�KDUL�NH� ��� ����������� 6DPSHO�EHUEHQWXN�

NXEXV�XQWXN SHQJDPELODQ�GDWD NXDW�WHNDQ�PHQJJXQDNDQ�DODW�SHPEHUL�WHNDQDQ�GDQ

VDPSHO� EHUEHQWXN� EDORN� XQWXN SHQJDPELODQ� GDWD GD\D� VHUDS DLU GHQJDQ� FDUD�

PHUHQGDP� EDWX� EDWD� VHODPD� ��� MDP�� %HUGDVDUNDQ� SHQJXMLDQ� SHQDPEDKDQ� DEX�

VHNDP�SDGL�PHQJDNLEDWNDQ�QLODL�NXDW�WHNDQ�VHUWD�GD\D�VHUDS�DLU�\DQJ�IOXNWXDWLI�VHUWD�

FHQGHUXQJ�NHPEDOL�SDGD�QLODL�DZDO SDGD�KDUL�NH�����7HUFDWDW�NXDW�WHNDQ�SDOLQJ�WLQJJL�

DGDODK������1�P� SDGD�SHQDPEDKDQ�����J�DEX�VHNDP�SDGL�VHUWD�GD\D�VHUDS�DLU�\DQJ�

GLKDVLONDQ DGDODK������ �� SHUVHQWDVH�GD\D�VHUDS�DLU�DNDQ�WHUXV�EHUWDPEDK�VHLULQJ�

GHQJDQ�GLWDPEDKQ\D�DEX�VHNDP�SDGL�
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VHUDS�DLU��DEX�VHNDP�SDGL��61,��������������


